Mount Lawley Senior High School



ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 12th December 2025 Using "DR9K" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be delivered by the 28th January 2026 for \$5.00, if placed on or before the return date of Friday 12th December 2025.

Orders placed after the return date will incur additional charges. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to our website @ www.Campion.com.au for all up-to-date information and terms & conditions.



Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR SEVEN					
	ENGLISH					
P50450	Novel provided by school Exercise Book A4 64 Page 8mm with Margin #106 Spirax	1		1	1.40	1.40
	HUMANITIES & SOCIAL SCIENCES					
P50839 P50450	Display Book A4 40 Pocket Insert Cover Red Non-Refillable Exercise Book A4 64 Page 8mm with Margin #106 Spirax	2 3		1 1	5.95 1.40	5.95 1.40
	MATHEMATICS					
P52000	Calculator Casio Scientific FX-82AU Plus II 2E (The scientific calculator is used in both Maths and Science lessons.)	4		1	41.95	41.95
P50450 P56353	Exercise Book A4 64 Page 8mm with Margin #106 Spirax Protractor 10 cm 180 4" Half Circle	5 6		4 1	1.40 0.45	5.60 0.45
1 00000	SCIENCE	O		'	0.43	0.43
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	7		1	41.95	41.95
P50839	(The scientific calculator is used in both Maths and Science lessons.) Display Book A4 40 Pocket Insert Cover Red Non-Refillable	8		1	5.95	5.95
	ART					
P55467	Students are required to have basic drawing materials and stationery. Document Wallet A3 PP Envelope With Stud	9		1	3.70	3.70
P56081	Marker Artline #200 Black 0.4mm	10		1	3.95	3.95
P56115	Marker Artline #210 Black 0.6mm	11		1	3.95	3.95
P52001	Pencil (2B) Goldfaber	12		1	0.70	0.70
	TECHNOLOGIES No Text Required					
	No Text Nequilled					
	MUSIC Additional resources such as music books and instrumental equipment ma	av be requir	ed as per ins	strumental pr	oaram rea	uirements
	(Defer to instrumental specialist as school year commences) Insurance charge paid direct to school (only payable if hiring an inst		ou do por me	stramontal pr	ogiaiii ioq	an omorno
P52358	Adapter USB-C3.1 to USB A	13		1	15.95	15.95
P55442	Display Book A4 20 Pocket Black Refillable	14		1	2.30	2.30
P51396	Earphones - In Ear Stereo Black	15		1	6.50	6.50
	(Wireless earbuds are not suitable. All headphones require cord with aux	3.5 connect	or.)			
	CHINESE					
P55449 P50450	Display Book A4 20 Pocket Red Refillable Exercise Book A4 64 Page 8mm with Margin #106 Spirax	16 17		1 1	2.35 1.40	2.35 1.40
	CHINESE GAT					
P55449	Display Book A4 20 Pocket Red Refillable	18		1	2.35	2.35
P50450	Exercise Book A4 64 Page 8mm with Margin #106 Spirax	19		1	1.40	1.40
P50510	FRENCH Display Book A4 20 Pocket Mid Blue Refillable	20		1	2.35	2.35
P50450	Exercise Book A4 64 Page 8mm with Margin #106 Spirax	21		1	1.40	1.40
	ITALIAN					
P55446	Display Book A4 20 Pocket Green Refillable	22		1	2.35	2.35
P50450	Exercise Book A4 64 Page 8mm with Margin #106 Spirax	23		1	1.40	1.40

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
Dagge	ITALIAN GAT					
P36838	Ecco Uno (Activity Book) 3E	24		1	39.95	39.95
P55446	New Edition for 2026 Display Book A4 20 Pocket Green Refillable	25		1	2.35	2.35
P50450	Exercise Book A4 64 Page 8mm with Margin #106 Spirax	26		1	1.40	1.40
				·		
	JAPANESE					
P55442	Display Book A4 20 Pocket Black Refillable	27		1	2.30	2.30
P50450	Exercise Book A4 64 Page 8mm with Margin #106 Spirax	28		1	1.40	1.40
	KOREAN					
P55443	Display Book A4 20 Pocket Navy Blue Refillable	29		1	2.35	2.35
P50450	Exercise Book A4 64 Page 8mm with Margin #106 Spirax	30		1	1.40	1.40
	GENERAL STATIONERY REQUIREMENTS					
	IT IS RECOMMENDED THAT ALL STUDENTS STARTING YEAR	7 HA	VE THE F	OLLOWING	G ITEMS	:
	PLEASE SELECT OPTION A OR INDIVIDUAL ITEMS IN OPTION B Option A					
P79672	Secondary Stationery Pack	31		1	68.00	68.00
	COMPLETE SECONDARY STATIONERY PACK WITH REDUCED PRICING		_			
	Retail Price: \$79.60 Cost Saving: \$11.60					
	Resource List Special Price: \$68.00 OR					
	Option B					
	SELECT INDIVIDUAL ITEMS AS REQUIRED					
P55110	Binder A4 2D Ring 25mm PE Black	32		1	6.65	6.65
P55442	Display Book A4 20 Pocket Black Refillable	33		1	2.30	2.30
P55449	Display Book A4 20 Pocket Red Refillable	34		1	2.35	2.35
P50281	Document Envelope A4 PP With Press Stud Clear	35		1	1.25	1.25
P50694	Document Envelope A4 PP With Press Stud Red	36		1	1.25	1.25
P58510	Eraser Plastic Pencil Large With Sleeve	37		2	0.40	0.80
P50450	Exercise Book A4 64 Page 8mm with Margin #106 Spirax	38		4	1.40	5.60
P50451	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	39		2	1.80	3.60
P51353 P51157	Glue Stick 40gm Artline Purple	40		1	2.95	2.95
P51157 P56388	Highlighters Pkt 4 Micador ECO	41		1	3.85	3.85
P50366	Loose Leaf Refills Reinforced A4 7mm Pkt 100	42		1	4.25	4.25
P56213	Markers Faber Project Wallet 12 Assorted	43 44		1	3.65 3.75	3.65 3.75
P56252	Pencil Case 340x170mm Name Large Pencils-Coloured 12's Colourush	44 45		1	4.85	3.75 4.85
P50006	Pencil (HB) Columbia Crestmark	46		3	0.35	1.05
P52001	Pencil (2B) Goldfaber	47		2	0.70	1.40
P56094	Pen Ballpoint Cap Type Black Medium	48		2	0.35	0.70
P56095	Pen Ballpoint Cap Type Blue Medium	49		4	0.35	1.40
P56096	Pen Ballpoint Cap Type Red Medium	50	$\overline{\Box}$	4	0.35	1.40
P56329	Pocket Plastic A4 11 Hole Box 100	51	$\overline{\Box}$	1	7.20	7.20
P56414	Ruler 300mm Plastic Clear Marbig	52	$\overline{\Box}$	1	0.75	0.75
P50161	Scissors 170mm Maped Plastic Handle	53		1	2.45	2.45

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
P56242	Sharpener Pencil Barrel Double Hole (EL)	54		1	2.10	2.10
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	55		1	14.05	14.05
	ADDITIONAL ITEMS REQUIRED					
	THE ITEMS BELOW ARE NOT IN THE STATIONERY P A Diary will be provided free to students at start of year (funde			S REQUI	RED	
P55111	Binder A4 2D Ring 25mm PE Blue	56		1	6.65	6.65
P55709	(Please do not purchase a Lever Arch File) Dividers Index A4 5 Tab (Board)	57		1	1.10	1.10
P50547	Earphones Ear Bud With In Ear Drivers and Microphone	58		1	15.95	15.95
P50553	File Expanding A4 13 Pocket With Press Clip Blue	59	_	1	21.95	21.95
	Number of Boxes ticked:					
	Postage (Home deli	very only)	\$5.0	0		
	ESTIMATED AMOUN (PRICES CORRECT AT	_	\$			